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D 9x-Ty+1 @9x—7y—2 ® x-23y-6
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2x — [Ty —3x = 2(4dy + 2x — 4y — 1)]
=2x— [Ty —3x—2(2x - 1)]
=2x— (Ty—3x—4x+2)
=2x+Tx-Ty—-2
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4x2—{3x% — 2x + (5x — 4)} = 4x*—(3x°+3x—-4) = x*-3x+4 =
Ax* +Bx+C

Ot A =1, B=-3, C=4°|BEE A+B+C =1+(-3)+4 =
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3x—{7x? +4x - (3x* - 2x+3)} =t
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3x—{7x® +4x - (3x* - 2x +3)}
= 3x— (4x*> + 6x - 3)
=3x-4x?-6x+3
=—4x*-3x+3




5. ol thd4olA 2x-5yE Hsfob & A& A5t MilEY Tx -4y
7F = A o] o, vi2A] Aot 27

O -7x-14y @ b5x-2y @11x—14y

@ 14x-Ty ® 20x + 4y
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A - (2x—5y) =Tx—4y
A= (Tx—4y) + (2x—5y) = 9x — 9y
wh2bA] BF2 A Al4FSHA (9x - 9y) + (2x - 5y) =
11x — 14y o]t}




6. x2-2x—50] o]t A& Fsof & AL BFste] MY 342 —2x-7
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O -x*+2x-3 @ x*-2x-3 @—x2—2x—3

@ —-x24+2x+3 ® x24+2x+3
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x?-2x-5-A=3x2-2x-7
A=-2x242
x2-2x-5+4+(-2x* +2) = -x?-2x-3
—-x>-2x-3
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3(x—2y)=2x+y
3x—6y=2x+y

x=TyolE& Foi Ao tjistH
2x+4y 14y +4y _@:3

xX=y Ty—y 6y
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2x+y = 3(x—2y), x = Ty°| B2 Fo|XI Aof tf¢istH
2x+4y _ 2(7y) +4y _ 18y
xX=y Ty—y Gy
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